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QUESTION NO: 1

In your calculation view, you want to consume a custom data source defined using SQLScript.In which type of object do you 
write your code?

A. Scalar function

B. Table function

C. Anonymous block

D. Procedure

ANSWER: B 

QUESTION NO: 2

You have imported calculation views from SAP HANA on-premise to SAP HANA Cloud.Why should you switch calculated 
column expression language from column engine to SQL?

A. To benefit from additional SQL optimizations

B. Incorrect aggregations may be generated

C. Column engine language is not supported.

D. To define limits for query unfolding

ANSWER: A 

QUESTION NO: 3

In Business Application Studio, you rename a DIMENSION calculation view that is used by a CUBE calculation view. You do 
NOT use the option to rename the runtime view and adjust the reference. Afterward, you perform the following deploy 
operations:Deploy the DIMENSION calculation view as a single object.Deploy the entire SAP HANA database module.What 
is the outcome of the deploy operations?

A. The first deployment is successful.The second deployment fails.

B. The first deployment is successful.The second deployment is successful.

C. The first deployment fails.The second deployment fails.

D. The first deployment fails.The second deployment is successful.

ANSWER: B 
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QUESTION NO: 4

Referring to the diagram,

which privileges would a user require to view United States data when querying the CUBE calculation view?

A. A SELECT privilege on the CUBE calculation view and an Analytic Privilege (Country = United States) on the 
DIMENSION calculation view

B. A SELECT privilege and an Analytic Privilege (Country = United States) on the DIMENSION calculation view

C. A SELECT privilege and an Analytic Privilege (Country = United States) on the CUBE calculation view

D. SELECT privileges and Analytic Privileges (Country = United States) on both views

ANSWER: A 

QUESTION NO: 5

Why does SAP issue warnings about the use of imperative or procedural SQLScript statements?

A. They can limit parallelization of query execution.

B. They introduce potential security risks.

C. They could modify the database.

D. They call multiple processing engines.

ANSWER: B 
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QUESTION NO: 6

What are the consequences of NOT executing a delta merge?Note: There are 2 correct answers to this question.

A. Read performance decreases.

B. New records are not read.

C. Memory is not optimized.

D. Aggregates are not adjusted.

ANSWER: A B 

QUESTION NO: 7

In a calculation view, why would you implement an SQL expression? Note: There are 3 correct answers to this question.

A. To generate hierarchies

B. To define a filter

C. To convert currencies

D. To generate a restricted column

E. To generate a calculated column

ANSWER: B D E 

QUESTION NO: 8

Why would you choose an HDI-shared service plan instead of a schema service plan?Note: There are 3 correct answers to 
this question.

A. You want to use SAP Business Application Studio.

B. You want to use containers to isolate objects.

C. You want to develop calculation views.

D. You want to create database objects using source files.

E. You want to use synonyms to access external data.

ANSWER: A B D 

QUESTION NO: 9
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What are some of the typical roles in an SAP HANA Cloud implementation?Note: There are 2 correct answers to this 
question.

A. Data architect

B. Modeler

C. Kubernetes expert

D. ABAP developer

ANSWER: A B 

QUESTION NO: 10

You have imported a new calculation view in a folder that contains an .hdinamespace file. This calculation view consumes 
one data source, which is a table. When trying to deploy the calculation view, the deployment fails with a namespace-related 
issue.What could be the reason?Note: There are 2 correct answers to this question.

A. The namespace used within the calculation view to reference the table is different from the actual namespace in the 
identifier of this table.

B. The imported calculation view and its data source have different namespaces.

C. An .hdinamespace file is defined in the SRC folder that specifies a different namespace property than the one in the 
identifier of the calculation view.

D. The .hdinamespace specifies "sub-folder":"append", so calculation views can only be created in subfolders.

ANSWER: A B 
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